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Solve each problem using a system of equations.

1. Emily has 180 M&Ms, some plain and some peanut. If there are 32 more plain M&Ms than

peanut M&Ms, how many peanut M&Ms does she have?
plain (P (n+32) +n =190 n+ 3+ =p
peanut (n) &n + 32 =30 (74) + 32 = P
32 -3 -
0L =
p+n =180 (+otnl) Qn = 148 l (oL -P)
C: 3= - 2o ! . 106 plain
F ‘,W"b' 174 peanut

2. The crib for Mrs. Matthew's baby is a rectangle. This rectangle has a perimeter of 126
inches. Its length is 5 in more than its width. Find the dimensions of the baby's crib.

I ' :

[T wiettn Q(w+5)+ Aw = |2L i
Perimeder= QL + QW QSH > W L= w+ 5
Ql\* aw = 1206 L’;’ - ’aw= 126 L= (29)+5

W+ |0O=1320b =
L=Ga+ 5D “io 1o /'“:f“
dw = lle o
4 4 o m‘

[w=29] ¢
3. Chris and Paul sold tickets o the NCAA Regional Baseball Tournament. Chair back seats
were $5 each while seats in Aggie Alley cost $2 each. If only 210 people attended and

they paid a total of $660 for tickets, how many people bought chair back seats?

%ﬁ-b e ( . ’
Qir - —
Aggie Auﬁa_ (:)) 5c + da= blO C+ & = 210
~2(c + o = ao)  + &= 210
5¢c + Jdo= LLO (cos+> 5o + 2d. = bWO ; -%0 -§0
= ¢ _ c= 240 _
SIS i s w e o
3c = Q40 C= ¢ . S0 ’E
Solve the inequality and graph it on the number line I 80 chaur baClL
c‘vdo
< \ ~ \ [ess, than ofw(_f\ +0)
4. 4(x+1)- 2(x-1) < 3 - x - , , & ! "
Mg -+ < 3 -y -4 -2 -2 -1 0 I 2
A+ < B-% 2K+ < 3
4¥ 4% b -bL X <-|
3x<_3




Spring Final Exam Name
Review Date Period

Spring Final Exam Review

Graph the inequalities below and shade the solution.

doed line _—
5.y > -3x+1 (not equal +0) 6.y < 2x + 7 (Bed:.{;&_l“:‘ig)
sh?tleot,+a.\o)we sree below
T lqlve-a'- qu (IQSS "I‘hM)
RE) H 3
v 1 /
“ gl
\ 1
y Uil ' ;

7. Mr. Salgado needs to get his car repaired, but cannot spend more than $225 for repairs.
His mechanic told him that he part needed to fix his car would cost $78 and the labor
would be an additional $35 per hour. How many hours can the mechanic work and stay
within Mr. Salgado’s budget?

73+ 25y = 225

il A% -7¢
35X = |47 LX = 42 l«\rs)
%5 33
Simplify the following polynomials:
8. (X+6x-5)+ (-x-3x-1) = X - b
OX* + 2¥X— b
9. (a®-3a-5) -1(-a®-7a+4) = 2e* +4¢ -9

Ll Sl [

2&7‘ -a-'-l'a,- q'
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Simplify the following problems.

10 (2X4)(5X3) ALJ\'\‘,\ '\n‘“
10X’

= N\
12. (x + 2)(x - 3) FolL o- Box!
( X ) F
X - 2x +ax— b
[ X*-

IX-b

A\
14. 4t(2t°- 1 - B)
8t°-44°- a0t

16. (-4¢%)? \m
-4)*(c )3 '“ut

mEa T

18. Find the volume of this solid.
Volume = LwH

= (@Y (3a)(2a)

IV= loa.”]

11. (4x7)(2x") - (6x°)(5x°)

1 [l 'W""
gxl - 30! I u‘&b,\lf\ n’
IW %"\Lm . ¥
®

Q
13. (3x-2)(2x + 3)
~

x? +9y -4y - b

| bx* +5% "(a)
\
15. _ 32d°bc® & &2
2 Odblc‘ S"t‘\'vs.?o("’(“ N
A 2
Sact *L/&,
- ¥
2 3 ﬂw\’
17.  (4x® y)(- 3xy ) (~l~ o
@) (x*) /%)‘ (- 3)‘(@*(‘3:) — muhapl
(x4 *)Ca1x0y) ot
- add. exponents
,'If?:l‘/j.a WM =
a
3a 2a
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FACTOR COMPLETELY. Find the solutions.

19 18x - 12y + 36

il o
"“ m"‘ &o(’b% A%* lay
,p.,c""

21, x? +20x + 36
Pr30]s=a0  (x+1%)(x+a)
1+ 306 31

'Y 4 a0 == ¥==2
3. 12 |15 [X L j
4+9
b+ b

23. 3p*+7p-6

pr-lf o] (x-2)(X+9)
.||-|'-'IQR |} 3 -5
“2+ -E (3x-2) (¢ +3)
a+-9 |- 7
"3+ 0 ; [ %3 %=-3
2¥-0 -3

Solve using the Quadratic Formula.

25. 6x°-5x-2=0

a=b
b:-g
c=-2

177 _

5t

- (-5)t VCer-400) )
2(0)
535+ 4y
I
5+ §.54

[EV e

5+ ¢.54

-[73) ’5-_%"’1:[_071_

v.\'*w\’

20. 64x%-25
§ eﬂl"

(x-5)(3x +5)
YX-5= 0 YX‘*g D

45 45

§x = 5 8x= 5
K g &

=-5
[x-—:l X

} 4
22. r’+7r-18
p=-18 |8=1
(*-2)(x+9)

“l+1g n
1+ =18

i | = = -
SafD [z %
“3r b | 3

3+-6[-3

U‘\

24. 3p°+7p-6

Some
ques-h' on

o6l
00p6.

Round your answers to the nearest tenth.

26. x°+ 8x+3=0

&=l -(8) 2 V()T —4(i>(a)
b= § L)
t= 3 8 14— 12
2
"¥rEr _ _9t7.2)
* 2
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Wereite the equation for the parabola: y = x?

27. shifts up 4 units ' 28. Shifts down 2 units and is reflected. "
_ o2 e 2 exte .
lj—x-ﬂ} W\M‘F %de_l 'vd&pv;/

: 5

5\“"."“‘\”—

29. Tiger Woods hits a golf ball into the air The equation that describes the path of the ball is
h = 55t - 5t°. Answer the folowing questions using the information given.

A. How high is the ball after 2 seconds? 9D fe ot
B. When will it first reach 140 meters? L'L 500 .

C. When will it hit the ground? || s0C . (wkw L(": ‘D)

30. The area of a rectangular room is given by the equation w? - 7w = 18 where w is the width
of the room. Find the width of the room.

wr .- w-1€-+0
\

()L—QB(%"’;L) cv\*,\,\v@-

p=-1% | s=-1 v
-1 | -m — _ y ¢
i o e
@& =D
-3 q 2]
3 -6 -3 y =
2 0 |3 [width Oq
31. The area of a rectangular piece of cardboard is represented by the equation L(3L - 7) =
20 where L is the length of the room. Find the length of the room.
- = - D - = -’ -
L (2L-1)=2aD p= “bO/ 51 (x5 ) (X 'E_0
| —-v0 |-959 3
L?._"L_;D =D | w0 59
5 2 -20 [ -a¢ [5X46)(>< ‘/)
-2 30| a¢ o '\"“ -
3 -0 | -1 )(>< or )< ..

-3 20 17

4 ~-I5 | -1 .

-4 s n LLMth’\ = i/
5 -1 |-
-5 7
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32. At which points does the graph of f(x) = x? + 2x - 48 intersect the x-axis?

'_ .~ 10
e, in (-$,0) (6,0)

33. For the functiony = 4x? + 3x - 1, what is the value of y when x = -3?

%54(‘3)145('3)", L or P|u\ 7+ in

m and. 180k at -ne table!
= 2

34. What is the vertex of y = 4x? + 3x - 1?

Pemember the . ~
Verdex is tne center point! 0375, -1.5)

Linear Transformations.

35. Given the equationy = 5x - 3, what would be the slope of a parallel line?’
o. parallel line has
| slope = 5 ) e same slope!

ey : (;‘ = 5\
36. Write the equation of the line y = 2x - 3 that has been shifted:

5 42

A. Up3 .'a'-'-' Rl ',,:,‘Lx-rD
B. Downl = ar-4

v . =

tﬂ' *3, olv._lb

‘3=a.x-4

37. Describe the change in the graph y = -5x when the equation is changed to y = -5x - 4.

shifts dowh 4
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Write the equation of a line given the following information.

38. The slope is 4 and crosses through the point ( -2,11)
point-slope : .-y = m (%-%,)
<~
Y- 1l = 4(x+2)
-1l = 4¢+¢
t +11

+1|
[4 = +4+19]
39. 2 points (3,-1)and (-2,9).
slope - 7:"‘3: Q+1 _ 10 ey
XZ—KI _OL_—.é -5

~ D
Y+l=-2(%-3)
r|l=-axX+L
tZ 2

[y=-ax+5]

40. Inarandom survey of 40 algebra 1 students at A & M consolidated HS, 30 said they loved
their math class. Using this information, what is the best prediction of the number of students

who love their Algebra 1 class out of 340 students?

20(240) = 4ox

vse & propor torol 50 like >_<_><_ (0200 = 4O¥
4D stugents 340 225 = X
[ 225 chuderts
41. Two lines have the equations 2x -y = 1
3x=y-6
At what point do they intersect? I
. > K -y = 2% =4y-b
\,\‘W\" % \0;\"7 o ST 4
e oot e Y=axn-l
Co C v s
BUCNRRY
Yo Lol .
\oO\LV« " sv)uhon (—‘7)—!5’)

P!
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42. SOLVE: 2(x+3)+3(x-5)=8(x-6)
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< N\ =

A+l +3x-15 = Y¢- 14

5Xx == ¢x -1%
-5%

-9 = 2zy-/4
414

Graph each of the linear equations.

43. y=-2x+5

44 y=4

A;_&

X

X

Name
Date Period

5= 3x

> 3

= Z

X )
horizontal  line 45 x=6 veyheal line
A 7, )




